
SOLUTION FOR ARIK AIR

>> Optimal solution FOUND
>> Maximum = 1/19

               *** RESULTS - VARIABLES ***
╔═════════════╤═════════════╤═════════════╤═════════════╗
║     Variable│        Value│    Obj. Cost│ Reduced Cost║
╠═════════════╪═════════════╪═════════════╪═════════════╣
║           z1│            0│            1│        28/19║
╟─────────────┼─────────────┼─────────────┼─────────────╢
║           Z2│         1/19│            1│            0║
╚═════════════╧═════════════╧═════════════╧═════════════╝
          *** RESULTS - CONSTRAINTS ***
╔═══════════╤═══════════╤═══════════╤═══════════╗
║ Constraint│      Value│        RHS│ Dual Price║
╠═══════════╪═══════════╪═══════════╪═══════════╣
║       row1│          1│          1│       1/19║
╟───────────┼───────────┼───────────┼───────────╢
║       Row2│      18/19│          1│          0║
╚═══════════╧═══════════╧═══════════╧═══════════╝
SOLUTION FOR AERO CONTRACTORS
>> Optimal solution FOUND
>> Minimum = 1/19

               *** RESULTS - VARIABLES ***
╔═════════════╤═════════════╤═════════════╤═════════════╗
║     Variable│        Value│    Obj. Cost│ Reduced Cost║
╠═════════════╪═════════════╪═════════════╪═════════════╣
║           Y1│         1/19│            1│            0║
╟─────────────┼─────────────┼─────────────┼─────────────╢
║           y2│            0│            1│        -1/19║
╚═════════════╧═════════════╧═════════════╧═════════════╝
          *** RESULTS - CONSTRAINTS ***
╔═══════════╤═══════════╤═══════════╤═══════════╗
║ Constraint│      Value│        RHS│ Dual Price║
╠═══════════╪═══════════╪═══════════╪═══════════╣
║       Row1│      47/19│          1│          0║
╟───────────┼───────────┼───────────┼───────────╢
║       row2│          1│          1│       1/19║
╚═══════════╧═══════════╧═══════════╧═══════════╝
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